A Work Energy Servo Apparatus

for the Physics 128/241 Laboratory Courses
A. Tomasch

      February 2006

Procurement

2/10/06 The following items are being procured, with McMaster Carr as the first-choice vendor.  Thirty five units are to be manufactured.

· Two Meter long aluminum scales (McMaster Part #1971A58)
· Angle brackets, U-Brackets for table mounting.  Current setup uses 4” corner brackets, but McMaster Carr may offer better alternatives.

· C-channel stock, 6’ long.  Current part is a shelf mounting rail, but aluminum C-channel stock with a 1/16” web thickness should be explored.  A wider C-channel will permit mounting the channel along the scale center line.

· C-Clamps for attachment to the laboratory benches.  The current examples are satisfactory.  A deep-throat type is needed for the bottom attachment point.

· Male banana plugs, red and black
· Silicone clad wire, typical of DVM probe leads for the electrical interface.  The pigtails exiting the modified servos will need to be a smaller diameter; the splice will be made with heat shrink tubing.  Leads will be strain relieved to the experiment spine with cable ties and tie pads.

· ½” square black cable tie pads

· 10 additional servos (ADT)

· 10 additional spools (ADT)

· Fasteners—¼-20 Button socket cap screws for mounting

     C-channel and brackets to the aluminum scale (ADT)

· J bolts and cylindrical metal canisters (to be filled with lead shot) for standard masses.  Possible items might metal “match safes”, aluminum cigar tubes or ???

Servo Modification:  The servos can now be modified to the point of having the amplifiers removed, the limit stops trimmed and standard pigtail leads soldered to the motor and exiting the case.  The critical path item is solder wick, which is needed to properly unsolder the motors from the amplifier boards.  This is to be procured ASAP.  The next step after this is to modify the output wheels, which require slight trimming with an X-Acto knife and drilling to accept the fasteners which retain the spool.  The spools can then be mounted.  ADT will supervise all fabrication/modification activities. 
Bill of Materials
To Construct One Unit:

One Required:

	1971A58 
	Aluminum Rule Metric Grads, 200 CM Length, 2" Width, 1/8" Thick
	$16.25 


One Required:

	47065T122 
	Fractional T-Slotted Framing System 1" X 1" Square Extrusion, 6' Length
	$20.70 


Three Required:
	1556A17 
	Steel Corner Brace Zinc-Plated, 4" Length Of Sides, 7/8" Width
	$1.26 


Eight Required (Must be purchased in packages of 15)

	47065T142 
	Fractional T-Slotted Framing System Steel T-Nut W/Cap Screw for 1" SQ & 1" X 2" Extrusion, Packs of 15
	$9.16 


Two Required (Must be purchased in packages of 100)
	91255A540 
	Alloy Steel Button Head Socket Cap Screw 1/4"-20 Thread, 3/4" Length, Packs of 100
	$13.91 


Eight Required (Must be purchased in packages of 100)

	91255A539 
	Alloy Steel Button Head Socket Cap Screw 1/4"-20 Thread, 5/8" Length, Packs of 100
	$13.32 


Eight Required (Must be purchased in packages of 25:

	98029A029 
	Black-Oxide Steel Thick Flat Washer 1/4" Screw Sz, 9/32" Id, 5/8" Od, .110" - .135" Thk, Packs of 25


Two Required (Must be purchased in packages of 50):

	95479A111 
	Grade 5 Black Oxide Steel Hex Nut 1/4"-20 Screw Size, 7/16" Width, 7/32" Height, Packs of 50
	$8.13 


One Required:

	5038A2 
	Light-Force Iron C-Clamp Deep Pattern, 1-1/2" Max-0" Min Open, 300# Hold Cap
	$7.01 


One Required:

	5133A13

	Light-Force Iron C-Clamp Reg Pattern, 2" Max-0" Min Open, 400# Holding Cap

In stock at $2.06 Each




One Required: 

	Futaba S3003 Servo Standard 

	[image: image1.jpg]



	

	
	


Manufacturer Stock#
S3003 
[image: image3.png]



[image: image4.png]



[image: image5.png]



[image: image6.png]



Special Stock#
LXH288 
[image: image7.png]



Tower's Low Price 
10.99 
[image: image8.png]



Stock Status
In Stock










One Required:  Custom Spool

Neoprene Rubber Sheet for Contact Surfaces of Mounting Brackets:

	8525T31 
	1/16" Thick, 12" X 12", Neoprene Rubber Sheet Gasket
	$3.52 


